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[image: Take the integral:\n integral (-x-2 sqrt(x)+3) dx\nIntegrate the sum term by term and factor out constants:\n  =  3 integral 1 dx-2 integral sqrt(x) dx- integral x dx\nThe integral of sqrt(x) is (2 x^(3\/2))\/3:\n  =  -(4 x^(3\/2))\/3+3 integral 1 dx- integral x dx\nThe integral of x is x^2\/2:\n  =  -(4 x^(3\/2))\/3-x^2\/2+3 integral 1 dx\nThe integral of 1 is x:\nAnswer: |  \n |   =  -(4 x^(3\/2))\/3-x^2\/2+3 x+constant]
Подставив пределы, получим:
S = -4*1/3-1/2+3*1 -0 = -4/3-1/2+3 = -11/6+18/6 = 7/6.





image1.gif
area between





image2.gif
f 3-2Vx ~x)dx= % =~ 1.16667





image3.gif




image4.gif
Take the integral:

f(fxfzﬁ+3'dx

Integrate the sum term by term and factor out constants:
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